Introductory quiz — Spring 2004 Name
CIVL 3121 - Structural Analysis |

Work any two (2) of the following problems *** SHOW ALL WORK

1. Find the reactions at the supporis for the beam shown below.
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2, Find the reactions at the supports for the beam shown below.

19% 1k H

¥ A Y '| l

| mi[fili—— ®———ma=s-——r T =1

Z:IviA ~ D= 10(&) - 1256 + By (12!) - P18

- |zk
B\i‘|5

IR = Ay +By - 10t 2k e

CIVL 3121 1st Day quiz

2/4



3. Determine the forces in all the truss members.
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4, Determine the force in the member CD, CG, DG, and GF of the truss shown below.
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